Perfect Pedestrians
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Pavement
Footpath
Track

Trail
Sidewalk
Pathway
Walkway
Path

Kerb
Green Cross Code
Pedestrian
Walking

Can you fill in the gaps?

Pedestrians should always use the cross when crossing the road

If there isn't a , pedestrians should always on the right hand side of the

road to face the coming towards them

Do you know the difference between these 3 signs. They all involve pedestrians but mean

very different things. Write what you think they mean in the space below

How many words can you make using the letters from the word Pedestrian. We know there are

at least 10. See how many more you can find and write them in the box below.




